fSTemr — <o (@)
gRar f-ie 21.01.2021

PG R

//W—-Wﬁaﬂaﬁ%%q//

1. 3RS oo Te ) 2020-2021 @ AT Fe7—=1 AgIETera
%mﬁeﬁw;%?mgqﬁwﬁr&mﬁ%l

2. STCTT—3(elTT Y% T3 & SJHR SRYRBT §
fere T €| SR GRS BT Yo U (@R Yor) BT AT fRam W
NETE | S & IR $eex UoT T |

3.9 ScRYRaPTel # SIUT 19,5391, RAT Ud YIS Srqvy vd
fard vy fory |

4.¥741 a9 & I} ey SRyt ST e B Ry smuy g
H @ S, 99 v wer ol SRRy o S |

5.9 foraq @l aifvm fifdy 315a) 2021 ¥ | 590 91E o T
@1 ffYr & IguR ScRyRaHT o Bl | -

6. Ta® Yo 99 % Remft gafwur sreaye o1 yemus aifard w5y §

ST BT 25 3F BT BN |
e
ST TR(ETH)

Scanned with CamScanner



AT I U <l we ey, g

XSTETa (B .T.)

iy ||
RS el

X3:2020—21

--------------------------------------------------------------------------

..........................................................................

--------------------------------------------------------------------------

Scanned with CamScanner




4 Lou L B

{4

de

TR SR L a5l ey

e

eI T Qe et HetfeTa g
IKiNeD HeTche: 2020—21
0. /Npm, /TR A—A
fawal

e —<HITE TR |
T4 BT B el R 8§ P Fb Wb ferRgy ?
a1erar

¥.2 fAR= YR @) GYEEmel b Sy afed a9ssy ?

——— —— e e e e

GOVT RANI SURYAMUKHI DEVI COLLEGE CHHURIYA
| INTERNAL EXAIVI 2020-21
Foundation Course- Engllsh Language
B.A/B.ComB.ScBH.Sc.- llI

MM.: 10

Answer any two of the following questions in about 200 words:- _
(i)  Write a'brief summary of the story, “Death of a clerk” in your own words.

(i)  Write an essay an “The new.Economic-Pqlicy.”. .

. (iii) . Why are bores happy? o ;
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Note:- Attempt any two questions. Both questions carry equal marks.
u1 ORI & Hsas Rigrr wwsmsd |
Explain Pearson HSAB concept.
U2 IHEME ggad o 27 & yom ggedd @ ausisy |
What are inorganic polymers. Explain any one polymer.
W3 BB P EEE g |
Discuss stfucture of Phosphazene.
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Note:- Attempt any two questions. Both questions carry equal marks.

U1 ThaCISl @ Bf el gTggioia 3 iffar @ fparfafer wwemed |
Explain reaction of fructose with phenyl hydrazine with mechanism.

U2 o I @ dfhyg AXE GaEed |
Explain ring stfucture of Glucose. -

u.3 WW%&W&RWW@@EWWW@WWWW

oo fafad) -
Explain classification of carbohydrates on the basis of hydroly5|s and write structural
formula of sucrose
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:S‘;3='N6te:- "~ Attempt any two questions. Both questions carry equal marks.

91 AfEoR T GEIGRT B TR |
Describe schrodinger wave equation
Y2 iR YHId B TS |
Explain Compton effect.

U3 Hieigadied YATd Bl GHE |

Explain Photo-electric effect.
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A
What Is transplration? Descrlbe any two methods of opening and cloging of stomata,
dlefal
W2 afarryd feapr oehgur ol (@ @R o s |

Pescribe the mechanlsm ol Active and passive absorption of water In plants,
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What are Hydrophytes? Explain varlous types i)f Hydrophytbs with (lgures.
Jlefe
U2 orgpert an uRmfer wX | wreqRla o Bisgagert ar quisy g¥?
What are !ldﬂ[)l'"tl()l’\ﬁ'l‘ Describe tha vnHuqs typos of )\duptht[ons In l'lvdrdphyms.
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U1  Ecology &Il Aim 3% Scope?FHTv%? gDl Iooig BT |

What is the aim & Scope of Ecology. Describe it.
| 31efan

U2  Rickettsia TN Ifara ot forlRay |

Write a brief note on ‘Rickettsia’.
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Write a brief note on Amino acid.
AT

- ﬁtmfﬁrmqﬁmzﬁaﬁﬁﬁﬁmz

Write about the structure & fypes of Peptides.
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(If )_, awand 3 converge to A and B respectively, then prove that)

n=1 n=1

gy 6 wer (0, 0) W e & W ag@eTg 78l, (Show that the function)
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IR &
(Show that the functian F : | —l deflned by f(x) -x & Tis the automorphim of | gn thc:

| setof integersof additive-group) .
2 g AB uw GgE G @ TRMT SRR %a‘efa*zﬁgqﬁﬁ

= " (If A, B are finite , subgroup Sf@gtouEitHen sttaw that)
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(Show that by induction method)
P2 anis n(n+1)(2n+1) ,n£1

¥2 ure) G= ({(11}{S}S{s—>11s s> 0 T ATHR | L(G) 5 AT |
(Let G=@KIS(s 1i9s g |

— ) be a grammer Determine L(G)
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b2 (1)

El&’ﬁ’lﬁlﬂmﬂzﬁﬁmmﬁma@wwwaﬁmﬁmWWW
BHIRTY?
Establish the Schrodinger wave equation for hydrogen atom and solve its radial part.
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Explain liquid —drop model and on the basis of this modal the process of nuclear fission.
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Draw the circuit diagram of half wave rectifier and explain its working. Find and
expressions for the efficiency and ripple factor.

3HdT

C -G q@ar &7 98 Y foran o B, 39 g I FHIGRY $Y A DA 67
What is C- programming. How is it written? How can a simultaneous equation be solved
by C-programming? '
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